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3(3w) j3X377xlU+1g4x(1—j3><377><4><10'6><10“)
1+ (10" x 3% 377 x 4 X 10 %)?

=27/ -51.5 mA

1
Iy (Buw) = 21, (30) = 0.06.£ = 146.2° maA
R+ Bl
(4) 5 IR B Us=40 /50 v
. 50°
I5(3e)= 5 X 37T X 10 + 10* x ET—jS X 377 x 4 X 107 % 10%)
1+ {10° % 5% 377 x 4 x 107%)?
=2.12 / —40° mA
_1
Is(5w) = —P2E—1(50) = 0.028 / ~1290.2° mp
R+ JS—cuL

139



KBRS KiE 2R EDE B M A5 B B P ARG () ip(r)
$(2)= 50 +32.1/2c0s(377¢ — 89.2°) + 2.7/ 2008(3 x 3771 — 57.5°) +
2.12+2cos(5 X 377 - 40°) mA
ir{t)= 50+ 2.124/2c08(377¢ — 175.4°) + 0.06v2c0s(3 x 3771 - 146.2°) +

0.028+2cos(5 x 377t — 129.2°) mA
B2 S B L TE AR O
A RWILBIE Uy=RI,=500 V, Y ER T EMAREN 100% , BEHRHLBE
IR Ui(w)=21.24 V, B E8 A BB REN 21.24% ;3 WER SR Bk
A Us(Bw)=0.6 V, & 3 B AR IES SR 2% ,5 WA B S 0 b E a5 %
B Us(50)=0.28 V, & 5 JIERM AR BTN 0.7% o 5% 50 by 860 15 41 00 1 1 5 &
T K, 30 B B T B 2 K R R
Bl2.4.5 —WMBRABEBEREESS VHERRE, HAMLR Y
ZAMTBABER10VREZREN BRA2A, @ LEETIGHK
EHXSOVHAFEZRPEER, X ERMERMEI A, CMZEER K
BT 3 SO, LS F A SRR A A R
IR RSB e H M,
R o ARZRE B R R VAR L BB, IR 2.4 5 A,
L Uy=8 VI, I,=2 A, L #2445
?00 S=40 B 2.4.5

HBU=I0V,]I=2A, BRAFEN

R=

U .
£=?=R+ij

1 Z1= VR +’L2= 7 =5
R + w f = 25
wl. = 30
2 U=50 VW IEZ R B E #itE Bt 3 58 0 8 1 A
| v, _U
L «/Rz‘f'mzL s]
I WG A e
I - U3 — U3 - = LIS
Y VRt (Bul) V16481 V07
HE 80 & 45 1] 40
=/ U4 U2 = 50
- f U1 U1 ~
=4 I + 13 "\1‘ 75 97 =0
P ER ST oR R

140
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